A+EZEEERETEHEAENRELE
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I o br=dtect BEFIK B -4acs0, X tanA="2
| - c

co2-B<tanA<2+43, FBIE 159 <A<T5

e v:v ‘ > 2 ] 2
9. mEFERX xX*+y +Dx+Ey+F=0,

B A03), BU2,6) @, AHEX
%+ y* + Dx +(§D+19)y-(4b+ 66)=0
b y=0RALR, x+Dx-(4D+66)=08EIEAF AP0 BRsYx BIZ
s, PO =(D+8) +200

" D=-8, .EHw (4-—%)

22 (2) Y200 5 () (4,%35)

3. mA-REETEHMA x S Al

X

x=_5_+i‘_.+.5.+—-+—8— = x=12 (548)
3 3 3 6 3 o

- - -3 -4
4. X =x" x4 " X"
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(9) L=t (tan-‘—+t _1_1_}_1“&;19 4% tmf=—i, AR
7 '1—-_tan(9 3
—.__tan*l}. o
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_11 ._11 V . -1 1 T -1 1
tan” —+tan —+...+tan 5 =——-tan ——
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